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simplify the following expression: 2(x-3)+5

@Ccmmm |
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4. Simplify: 52a -2b) 4 5(3a 4 2b)

750

4, Simplify: 8 - (x —5) - 35
“A% A

5. Solve: ~1+3x=5§

A=K

6. Solve: 8x-5=_29

=3

7. Solve: 2x 4 13> -27 8. Solve: -7x-5<1p

X2-20 LS

Application

9. To get a learner's permit, one must be at

least thal6 years old. Write an inequality to represent y,
to get a permit.

\j>\w

the required age

X
10. Write a simplified expression that represents the PERIMETER of the figure.

Ax +41

11.Write a simplified expression that represents the AREA of the above figure.

TIx L

2x+3

I Scanned by CamScanner



Write lhg following statement as an algebraic equation: = N .
L - = o~ -
* 12. “Thrée mare than the product of a number and six is @ o two less than the number.
= bx+3=X-1
13. Twelve less thap three times a number(is 9. What is that number?

oy S PRl

14. Charles owns a boat rental company. He uses the equation ¢=4.50h + 10 to determine the cost of boat rental

where c=cost and h=hours of rental. If a customer is charged $37.00, how long was the boat rented for?
[ hours 37.= 4 S0 h + 10 %
=10 = 5

—-—:‘ - ; :‘\
o 4.50h C heE Lihoua s
[ - s . i
15. Chuck and Sam run each day for exercise. Sam runs twice as far as Chuck each day-iftogether;they.run 7:miles, how
many miles does Sam run each day?

50m =2¢ Y .
Chuh =C 207 4%/3 miles

16. James has spent $32 of his $50 Target gift card. He plans on using the remaining balance to buy gum. If the gum
COsts 52.50 a pack, how much Bum can he purchase?

4 S —
= 2.50% $H= S0
=11 e -3Z
§ O .{_;(.):“ - l. X:- 1-14 l
7 pOCkS O quit  “2gox = 2
. An 2 .
17. Which of the following shows the solution to 3+§ >212=5 o> A5 L
10 -9 8 -7 -13 -12 -11 10
B | | E D s I $ | l I l
-10 =9 -8 -7 -13 -12 11 -10

18. Find the value of x in the diagram below.

The sum of the angles in a
triangle=180 degrees

~3(-4-x)= 40

N2+ 33X =60 (b_
s R X - =3
33X =4¢g
A 15% B. 18 C. 60 3 3 Not here

>

+ 3
19. Sue makes 510 an hour babysitting. She needzsu to pay her bills. She has $120 alreaay saved. v/hich
inequality best describes the number of hours, h, that she would need to babysit in order to pay her bills?

120 +10h 2280 B. 120+10h<280 C. 120+10+h<280 D. 10h2280

]
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